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SBTi’s (Scopes 1 and 2) Target Options (excluding economic)

Company 
wants to 
set a SBT

Does an 
SBTi

approved 
sector 

pathway 
exist?

Sectoral 
or 

Absolute 
approach

?

Reduce emissions by 
2.5 – 4.2% pa (linear)

absolute

sectoral

no

Use SBTi’s Sectoral 
Decarbonisation Tool

yes



ICT Sector CO2 Footprint (excluding embodied)

Initial modelling focus here
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Calculating a (sub-)sector pathway for electricity

Notes: 
1. Activity should be measured in terms of a physical parameter specific to the sub-sector.
2. All of SBTi’s current (sub)sector decarbonization approach (SDA) pathways are based on the IEA B2DS ETP 2017 analysis. 

Annual CO2 emissions  =  (sub-)sector activity  (units of activity)

* (sub-)sector energy efficiency (MWhrs per unit of activity)

*  power sector carbon intensity (tonnes CO2 per MWhr)



Data Centres – work in progress
Activity metric: No of servers
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Proposed Application by ICT Companies

Stage 1

Data Centres
Fixed Line Networks
Mobile Networks
ICT Services
End User equipment
ICT Manufacturing

Transport Fleet

Offices and other 
service buildings

Stage 2

Use ICT sub-
sector SDA  tools 

as required

Use service 
buildings 

application in 
existing SDA  tool 

Use existing SDA  
mobility tool 

Stage 3

Consolidate into 
Scope 1, 2 and 3 
targets according 

to company’s 
position in the ICT 

value chain
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